PBC Single Stage Dimensions PBCEERSMER M

FICOBA (Recinto Ferial Gipuzkoa)
AVDA.IPARRALDE, 43 - ROOM 3
20302 IRUN-GIPUZKOA (SPAIN)

R, 0034 646 211965
% RCC@RCCINDUSTRIAL.COM
© RCCINDUSTRIAL

PLANETARY GEARHEADS

PBC Double Stage Dimensions PBCE#R MR~

INDUSTRIAL SOLUTIONS co
L1l S8 oC?
2 < L11 | C6 oC7 g %{% T
8| 4 il - SE
I Hiw 3 a7t —®s
d i Q ol g _ 3]
1‘.& wl T ,——@ B III){ s i ®
a]fa] = L o L4 | 1
sel |~ [ ; ) =B \—L |
L4 i Ll <
L3|F = L2 L8 = ce
B
L2 L8 c8 §| » -
- g 5\ & A g
I - 1
T > - L9 P La ] i
’ L9 (10 e c4 |9
(10 La|= 8
L2 L8 cs
Specifications R1& Unit:mm Specifications & Unitmm
R~ Dirmensions PBC50 PBC70 PBC90 Rt Dimensions PBC50 PBC70 PBC70T PBCS0 PBCSOT
D1 44 62 80 D1 44 62 80
D2 M4x0.7P MB5x0.8P MBx1.0P D2 M4x0.7P M5x0.8P M5x1.0P
D3 hs 12 16 22 D3 hs 13 16 22
Ddgs 35 50 68 D4 ge 35 50 68
D5 15 20 35 D5 15 20 35
D6 M4x0.7P MB5x0.8P M8x1.25P D6 M4x0.7P M5x0.8P MB8x1.25P
D7 50 70 90 D7 50 70 90
L2 26 36 45 L2 26 36 45
L3 5.5 5 L3 55 5 7
L4 26 27 3 L4 26 27 3
L5 15 25 30 L5 15 25 30
L6 2 2 3 L6 2 2 3
L7 8 10 12 L7 8 10 12
L8 324 496 544 L8 573 803 759 954 92
L9 4 4 45 Ls 4 4 45
L10 14 165 205 L10 14 165 205
L11 269 343 4155 L11 269 343 269 4155 343
cL? 46 70 90 c1? 46 70 46 90 70
c2? M4x0.7P M5x0.8P MB6xL.0P c2? M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P
c3? s8/511 <14/<19 £19/224/<28 ca? =8/<11 £14/<19 <8/<11 £19/224/<28 £14/<19
ca’ 265 335 41 ca? 26.5 335 265 41 335
€524 30 50 70 C52F6 30 50 30 70 50
c6? 4 4 6 c6? 4 4 4 6 4
[/ 426 60 92 G 7 42.6 60 426 92 60
8 364 448 55.8 cs? 364 448 364 55.8 448
ca? 948 130.4 1552 c9? 1197 161.1 1483 196.2 1818
B 5 5 6 B 5 5 3 §
H 15 18 245 H 15 18 245 £
2

% Cl~-CORA WA RS Bl K <, Mk AT R R R e,
* FATIEHRHHL L WRARETHRARERETEA.

* Cl~-CORLMEM EEERIER < W ATER N EERE,
* BATERHE N ERRRARETRAMERETEL.

¥ C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to motor flange.
% Specification subject to change without notice.

% C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to motor flange.
# Specification subject to change without notice.

=

=
7= SESAME 110
www.sesamemotor.com

(©

109 7= SESAME
www.sesamemotor.com



Rafa
Logo planos HD


